Sunrise-Sunset Profile
PPL Electric Utilities does not meter interval kW values for street and area lighting accounts. Estimations of hourly kW values for a given period can be calculated using a period total kWh and sunrise-sunset values. The sunrise-sunset hourly values consist of a series of 0’s, 1’s, and values between 0 and 1. They are to be interpreted as follows:

                              0=Lights are off

                              1=Lights are on

      

      between 0 and 1 = Lights are on for the proportion of the time   

To calculate the estimated interval kW values, aggregate the sales level sunrise-sunset values for the period and divide the result into the period total kWh to arrive at a usage factor ratio. Multiply the usage factor by the individual sales level sunrise-sunset values to arrive at the estimated sales level hourly kW values. The following hypothetical example shows the calculations for a given day:
Sales level sunrise-sunset values for 1/5/2011:

1,1,1,1,1,1,1, 0.43,0,0,0,0,0,0,0,0, 0.18,1,1,1,1,1,1,1

Total of sales level sunrise-sunset values: 14.61

Day kWh: 1000

Usage factor: 1000/14.61 = 68.45
Estimated sales level kW values:

68.45,68.45,68.45,68.45,68.45,68.45,68.45,29.43, 0,0,0,0,0,0,0,0,12.32, 68.45,68.45,68.45,68.45,68.45,68.45,68.45
To calculate the estimated generation level kW values, simply multiply the same usage factor ratio by the generation level sunrise-sunset values.

Flat Profile

Some unmetered accounts have a flat load profile. For these accounts, use the same method as above to calculate estimated interval kW values.  For example:

Sales level flat values for 1/5/2011:

1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1

Total of sales level values: 24

Day kWh: 1000

Usage factor: 1000/24 = 41.67

Estimated sales level kW values:

41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67,

41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67, 41.67

As with the lighting accounts, to calculate the estimated generation level kW values, multiply the usage factor ratio by the generation level values.
